Key

Math 125: Quiz the Fourth
October 1, 2021

You have the remainder of the period to complete this quiz. Please justify your answers where ap-
propriate and READ ALL DIRECTIONS CAREFULLY. You may use a calculator for computation

only. .
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@ 1. Find the equation(s) of the line through the point (3,1,2) and in the direction of (-2,1,4).
Give at least two forms for this equation.
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2. Find the equation of the plane through the point (3,1,2) and normal to (-2, 1,4)

-2 (x -3)+ '(uf\)* ‘7’(}'ﬂ =0



3. Find the equation of the plane containing the points

A= (1’4)_2)7 B = (2a3a0)) C= (5705 1)

4. Find two planes perpendicular to the zy-plane that are not perpendicular to each other.
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5. The following lines intersect

r=3+t y=—-1+t 2=3-2¢
z=1+4s y=-1+4+2s z2=2-3s

(a) Find the point of intersection.
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(b) Find the acute angle of intersection (you may leave your answer as an arccosine).
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6. Identify each surface below, and, for each, determine the allowable z values.

(a) 18x2 + 72y% + 222 = 288
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(b) 1822 — 72y — 222 = 288
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(c) —18x2% + 72y% + 222 = 288
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7. (Bonus) Which mathematical terms come from the following roots?

(a) Latin from Greek for ‘to throw alongside’ ?ara bo la

(b) Latin for ‘to touch’ 7‘7,,,,?(,, #
(c) Arabic ’a’awareya’, which refers to goods damaged at sea. Qv@ 'O(? e



